10 kaace. Kiaroun
Yacrts 1. I1o 1 6aury 3a kaxablii npaBWibHbINA 0TBeT. Beero 25 6anos

A b B r A B r
1 X 14 X
2 X 15 X
3 X 16
4 X 17 X
&) X 18 X
6 X 19 X
7 X 20 X
8 X 21 X
9 X 22 X
10 X 23
11 X 24 X
12 X 25 X
13 X

Yacts 2. [1o 2 6ass1a 3a KaxAblil NpaBUJIbLHBIN oTBeT. Beero 20 6a/u10B

A b B r A B r
1 X 6 X
2 X 7 X
3 X 8 X
4 X 9 X
5 X 10 X
Yacts 3. 1o 1 6a/uty 3a ka:xknoe BepHoe yreepakaenune. Beero 10 6a1oB

1 2 3 4 5 6 7 8 9 10

A X X X X X
HET | X X X X X

Yacts 4 [1o 3 6an1a 3a kakaoe 3ananue. Beero 12 6asnos.
3aganue 1. 1o 0,25 6anna 3a KaXAy0 NPAaBUJILHO 3aNI0JTHEHHYI0 siueliKy BO 2ii u 3ii
cTpouke Taduubl. Beero 3 6amna

BemecTBo 1 2 3 4 5 6
Dopmya A A r r B b
Xapakrepucrtuka | |1 Vi I v \Y 11

3ananue 2. 1o 0,5 6a/10B 32 Ka:K10e NpaBuJbLHOE cooTBeTcTBHE. Beero 3 6ana

Popma 1 2 3 4 5 6
Tun A A b A b A
3ananue 3. 1o 0,5 6a/10B 32 Ka:K10e NpaBuJbLHOE cooTBeTcTBHE. Beero 3 6asna

MpImima 1 2 3 4 5 6
CsoiictBo | I i | E b A B
3aganme 4. I1o 0,5 60a/J10B 32 Ka:K10€e MpaBUJLHOE cooTBeTcTBHE. Beero 3 6asia

@amvuua | 1 2 3 4 5 6
OtkpsiTHe | B E I 3 XK A
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